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A 4 Ohm resistor is connected in parallel with a 6 Ohm resistor, and this combination
is connected in series with an 8 Ohm resistor. The current flowing through the 8 Ohm
resistor is 7.5 Amps. Calculate EACH of the following:

(a) The applied voltage; (4)
(b) The current in EACH of the parallel resistors. (4)
Q9 December 2019

A battery has an e.m.f. of 38 volts and an internal resistance of 4 ohms. It feeds
a circuit consisting of three resistors connected in parallel. The resistors have values
of 10 ohm, 20 ohm and 30 ohm.

Calculate EACH of the following:

(a) the battery terminal voltage; (4)

(b) the current in EACH resistor.



GES2 Resistors in Series and Parallel Full written solutions Online tutoring and exam Prep www. SVEstudy.com
DavidJamesGallimore42 @gmail.com

Q9 March 2017

A battery consists of 10 cells connected in series, each cell having an e.m.f. of 2V and

an internal resistance of 0.05¢). The battery supplies a current of 5A to an electric
motor.

Calculate each of the following:
(a) the potential difference of the battery; (5)

(b) the resistance of the electric motor. (3)
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A battery of EMF 12V and internal resistance 0.2Q is connected across the terminals
XY of the circuit shown. Calculate EACH of the following:

(a) Total resistance of the circuit. (4)
(b)  The current flowing in the 2.9Q resistor. (4)
(c) The potential difference across the 5.1Q resistor. (2)
X
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A 4 Ohm resistor is connected in parallel with a 6 Ohm resistor, and this combination
onnected i ith an 8 Ohm resistor. The current flowing through the 8 Ohm
tor is 7.5

lculate EACH of the following:
{a) The applied voltage; (4)
{b) The current in EACH of the parallel resistors. (4)
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A battery has an e.m.f. of 38 volts and an internal resistance of 4 ohms. It feeds
a circuit consisting of three resistors connected in parallel. The resistors have values
of 10 ohm, 20 ohm and 30 ohm.

Calculate EACH of the following: _ } ~ l__ 4 L = _':_L

|
{a) the battery terminal voltage; (4) R - 1Q >0 60

(b) the current in EACH resistor. ‘
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A battery congists of 10 cells connected in weres, each cell having an e.m. 1. of 2V and
an internal resistance of 00541 The battery supplies a curnent of 54 to an electric
mator.

Calculane each of the following:

Full written solutions Online tutoring and exam Prep www. SVEstudy.com
DavidJamesGallimore42 @gmail.com

{a)  the potential difference of the battery; 151
db)  the resistance of the elactric motor. [E]
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A battery of EMF 12V and internal resistance 0.202 is connected across the terminals
XY of the circult shown. Calewlate EACH of the following:

{a)  Total resistance of the circuit. "= 5 _IL )
() The current flowing in the 2.902 resistor, )
(e} The potential difference across the 5.10 resistor, 2)
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